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Foundations of mathematical economy, 1st test

( November 8, 2011

Name: ... ... o o e e e e e e

Lecturer: . su i s sea s s iss eale ehti s i

. Find the derivatives.

(4 + 4 + 4 points)

(a) Fl) = (@ + 3) Inax,
(b) )= Hil.:xﬁ,r
(©) @) = YD)

. Find the composite function f o g.

f@) =4z +2,
glz)y =z — 3,

. Find the inverse function (if it exists).

f(z)=2"+1,

. Find the limits of the sequences below.

4n_2n
:4n+2n

Qn

(6 points)
z € [0,1]
z €[0,4].
(6 points)
z € [-1,0].

(4 + 6 points)

by =vVn+1l—yvn—-1

. Find the following limits.

(64 6 ponits)

3zt +5x+7
im ———
zo0o 4zt + 522 + 8

224+ —2

lim

122 — 3+ 2

. Write the equation of the tangent line of the function

fl@) =z,

correspongint to point xg = 1.

x>0,

(4 points)
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A kozgazdasiagtan matematikai alapjai

I1. zarthelyi dolgozat
2011. december 8. - ,,A” csoport

Gyak.vezetd neve: ... ..........ciiiiiiiiiin. Név: e

Gyakorlat idépontja: ...................... Neptun kéd: ......................

A beugré feladatokat kérjiik a feladat uténi {ires helyre oldja meg. Amennyiben harom kérdés koziil
legalabb kettd nem tokéletes, a dolgozat Gsszpontszama nulla. A tobbi feladat a papir hatoldalan
talalhatd. A beugré feladaton kiviil a dolgozat hét feladatot tartalmaz. Az egyes feladatokért kaphatd
pontszamok a példak mellett talalhatok. A feladatokra adott eredményeket, valaszokat indokol-
ni kell, pl. hivatkozni tételre, definiciéra, stb! Indoklas hidnyaban a hibatlan megoldas nem teljesér-
tékd! A feladatok megoldasdhoz 90 perc 4ll rendelkezésre.

Beugroé feladatok

a.}) Find the derivative. (4 pont)

b.) Find the the following indefinite integral. (4 pont)

/(3m+2) dz

c.) Find the following indefinite integral. (4 pont)

f % coszdz




. Problem.

. Problem.

. Problem.

. Problem.

. Problem.

. Problem.
y=2x+2.

. Problem.

Find all maxima and minima of the following function.

fx)=2*+z-12, z€][0,4]

Find the following limit.

Discuss function f below and give its graph.

f(z) = 2* — 27, z € (—00,00).
Find the following indefinite integral.

/:v In(z) dz

Find the following Riemann integral.

./:(m—i-\/f) dz

Find the area of the bounded region surounded by the lines y = =

Find the improper integral below.
/ e *dz
0

Jé munkdt!

(5 pont)

(4 pont)

(10 pont)

(4 pont)

(5 pont)

2 and

(5 pont)

(5 pont)




